
第2章の解答例

2.1　導関数

問 1.
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問 2.

(1) (x4 − 3x+ 1)′ = 4x3 − 3.

(2) {(x− 1)(x2 + 1)}′ = (x2 + 1) + (x− 1) · 2x = 3x2 − 2x+ 1.
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(6) (xex)′ = ex + xex = (x+ 1)ex.

(7) (x2 log x)′ = 2x log x+ x2 · 1

x
= x(2 log x+ 1).

(8) (ex cosx)′ = ex cosx− ex sinx = ex(cosx− sinx).
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問 3.

(1) {(2x+ 3)5}′ = 5(2x+ 3)4 · (2x+ 3)′ = 10(2x+ 3)4.

(2) {(3x2 − 2)4}′ = 4(3x2 − 2)3 · (3x2 − 2)′ = 24x(3x2 − 2)3.



(3)
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.
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.

(8) (sin 3x)′ = cos 3x · (3x)′ = 3 cos 3x.

(9) (cosx2) = − sinx2 · (x2)′ = −2x sinx2.
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.

問 4.

(1) (sinhx)′ =
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2
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(
sinhx

coshx
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=
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問 5.
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問 6.

(1) (log | log x | )′ = (log x)′

log x
=

1

x log x
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(2) (log | tanx | )′ = (tanx)′
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=
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(5) (22x−1)′ = 22x−1 log 2 · (2x− 1)′ = 2 · 22x−1 log 2 = 22x log 2.

(6) (3x−x2
)′ = 3x−x2

log 3 · (x− x2)′ = (1− 2x)3x−x2
log 3.

(7) y = xx (x > 0)とおき，対数をとると log y = log xx = x log xである．両辺を xで微分すると

y′

y
= log x+ x · 1

x
= log x+ 1 ∴ y′ = xx(log x+ 1).
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問 7.

(1)
dx

dt
= 2t，

dy
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= 1− 1

t2
=
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dy
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=
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．

(2)
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= − sin t+ cos t，
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．

問 8.

(1) y′ = cosxなので，点
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，ẏ

( π

3

)
=

√
3 a

2
．これより接線の方程式は y =

√
3x+ a

(
2− π√

3

)
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3
√
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